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PRAKSIS UNHCR
A. 9-12
Mathematics - Slusb ) — =l
H npomtaideta. The multiplication table.
Le table de multiplication.
L) @ dsaa
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1x1=1 2x1=2 Ix1=3 4x1=4 5x1=858
1x2=2 2x2=4 Ix2=6 4x2=8 5x2=10
1x3=3 2x3=6 3x3=9 4x3=12 5x3=15
1x4=4 2x4=8 3x4=12 4x4=16 5x4=20
1x5=5 2x5=10 3x5=15 4x5=20 5x5=25
1x6=6 2x6=12 3x6=18 4x6=24 5x6=30
1x7=7 2x7=14 Ix7=21 4x7=28 S5x7=35
1x8=8 2x8=16 3Ix8=24 4x8=32 5x8=40
1x9=9 2x9=18 Ix9=27 4x9=36 5x9=45
2x10=20 3x10=30 4x10=40 5x10=50
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Ex1=6 Tx1=7 8x1=8 9x1=9 10x1=10
6x2=12 Tx2=14 Bx2=16 Ox2=18 10x2=20
6x3=18 Tx3=21 8x3=24 9x3=27 10x3=30
6x4=24 7Tx4=28 8x4=32 9x4=36 10x4=40
6x5=30 7x5=35 8x5=40 9x5=45 10x5=50
6x6=36 7x6=42 8x6=48 9x6=54 10 x6 = 60
6x7=42 Tx7=49 8x7=56 Ix7=63 10x7=70
6x8=48 7x8=56 8x8=64 Ox8=72 10x8=80
6Ex9=54 7x9=63 Bx9=72 9x9=81 10x9=90
\sno-soj \7xio=70j \8110180) \9“0-90) \10):10-109
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UNHCR

The UN Refugee Agency

JupmAnpwoe ta kevd. Fill in the gaps.

Complete les blancs.

S JaesS ) B glals

cle) Al Jas|
lll._. T‘:. ._II:..I_: ._...il.i__-. __.l;'.:ll:ll.
Czurd Covar# Coamt (mT ot
= du bry & s Su b dn ks Ta
e — T — —— |
3 & 5 & T
| | L | | |
& B 10} [ 12) | 14
 — —_— —_— —_—  —
— — — "E— —
¢ e p— —
— e e e
| I — S e —
| — — — —
- ", o~

The World We Want
Foundation



J

PRAKSIS
Kave toug moAAamAactapoug. Do the multiplications.
Fais les multiplications.
2 aladl ) e sl J) s
ol il o8
Ix3= iUxd = R =
Ix6 = UxO = QET=
Ix2 = Ux | = I xg =
dX3= HX5 = 3xd=
AX6 = Sx0= Jxi=
2X2= Skl= 3x9=
3 X 8 = l X l = Ll X 8 =
3x3= IS = Uxb6 =
3x0= L = Ux 3=
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UNHCR

UN Refugee Agency
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Kdve toug moMamAaotapolg. Do the multiplications.

Fais les multiplications.

A3 alail ) e dilee

ol e 8
7x8= Tx6= 7%5=
Txl= 7x9= 7x3=
Txu= 7x0= 7x10 =
&x9= Ex6 = Ex0=
axu= Exq = Ix5=
Ex 10 = Ex2= X T=
Ixl |=17 x| =0 x| |=7
gx | |=6U Ix[ 1= 3x[]=72
x| |=49 x| |=l6 x| |=70
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KUkAwoe tn owotn andvtnon. Circle the correct answer.

Encercle les response correcte.
AT aals \J Gy L_l‘j;

sl AaY) Jea 3l o

9x 6 Ax7

bx] @7)&7@8:&8

8x7

8xb
8x|0®%7®%5

9% 8
9x 8 qx7 Ax 6

bx7 @ bx8 @8:&‘!

Yxb

bx8 @6:&5

Yx 0



